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B-6-3| 212 - - - - B-6-3 - - - -
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+/95-134(Ba/L) [ #295-137Bo/L) | BE [ #HER | AIE [ HEK [#KE
A EE e vee BEE reTre 214 | AR | AR | AR |
KD ND 1 ND 1 0.028 | 10/6 | 10/9 - -
2HKB-1-1] ND 1 ND 1 0.028 | 10/29 | 10/31 - -
Z2HKB-1-2 ND 1 ND 1 0.028 | 10/29 | 10/31 | &= | 2.0
2HKB-1-3] ND 1 ND 1 0028 | 9729 | 9/30 | 10/6 | 20
2HIKB-1-3] ND 1 ND 1 0.028 | 10/22 | 10/27 [10/29]| 20
BHKB-3-1| ND 1 ND 1 0.028 | 10/29 | 10/31 | Xxk[E | 2.0
;2HIKB-3-2] ND 1 ND 1 0.028 | 10/29 | 10/31 - -
2HKB-3-3] ND 1 ND 1 0028 | 9729 | 9/30 | 10/6 | 20
;2HIKB-3-3] ND 1 ND 1 0.028 | 10/29 | 10/31 - -
2HKB-4-1] ND 1 ND 1 0.028 | 10/29 | 10/31 - -
;2HIKB-4-2] ND 1 ND 1 0.028 | 10/29 | 10/31 - -
BHKB-4-3| ND 1 ND 1 0.028 | 10/29 | 10/31 | X&[E | 2.0
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